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51. Pick out the word which can replace the word underlined without changing the
meaning of the sentence.
We had to conceal the fact from her due to some reasons.
(1) get (2) keep (3) hide (4) avoid
62. Give one word for the phrase ‘In a nut-shell’.
a. Intell b. Inside c. Inshort d. Intact
(1) Onlya (2) Onlyb
{3) Onmlyec (4) Onlybandd
53. Pick out the word that is most nearly the same in meaning as the following word :
Cite
(1) Recollect (2) Quote (3) Number {4) Ilustrate
54. Choose the word which is most opposite in meaning of the given word.
Comparison
(1) Separate (2) Different (3) Distinct (4) Contrast
55. Choose the best alternative from the following which expresses the opposite meaning
of the given word.
Recede
(1) Rush (2) Advance (3) Approach (4) Forward
568. Pick out the correct meaning of the following word :
Credulous
(1) A person having no sense of sympathy
(2) One who is inclined to fight
{3) One who is inclined to quarrel
{4) One who readily believes in others
57. Choose the best alternative from the following which expresses the opposite meaning

of the given word.
Shallow

(1) High {(2) Hidden (3) Deep (4) Hollow

TFoea] PHETEIE! SO / SPACE FOR ROUGH WORK P.T.O.
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58. Choose the correct word for the following :
An act of killing one’s own family
(1) Genocide (2) Homicide
(3) Suicide - (4) Patricide
59. Read the following sentences carefully and decide on their correctness on the basis of
the underlined words :
a. An ordnance declaring President’s rule in the State has been issued today.
b. The ordinance depot is situated far away from this city.
(1) Only a is correct (2) Only bis correct
(3) Both a and b are correct (4) Both a and b are incorrect
60. Choose the correct alternative in which words are correctly spelt.
(1) Fiber, Heritage, Guarantee, Heredity
(2} Fibre, Heritege, Guarantee, Heredity
(3) Fibre, Heritage, Guarantee, Heredity
(4) Fibre, Heritage, Gurantee, Heridity
61. Read the following sentences carefully and decide on their correctness on the basis of
the underlined words :
a. The Government plans to take some sanitary measures in the State.
b. The sanitary conditions of the town are not good.
(1) Only ais correct (2) Only b is correct
(3) Both a and b are correct : (4) Both a and b are incorrect
62. Identify the correct sentence.
a. The doctor attends on alternate days.
b. The doctor attends on alternative days.
(1) Only ais correct {2} Olﬂy b is correct
(3) Both a and b are correct (4) Both a and b are incorrect
63. Choose the one which can be substituted for the given words/sentence.

A short, usually amusing story about some real person or event
(1) Anecdote (2) Antidote (3) Tale (4) Allegory
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64.  Pick out the correct meaning of the word underlined.
They won by a narrow margin.
(1) edge (2) scope (3) difference (4) space

85. Choose the word which can be substituted for the given words/sentence.
The custom of having many wives
(1) Monogamy : (2) Bigamy
(3) Polygamy (4) Matrimony

668. Choose the correct alternative to form a meaningful word.

griev
(1) ence (2) iance
(3) ance (4) nce

67. Fill in the blanks vﬁth the correct word.
The bird will 1n no time,

(1) sore 2) sure {3} soar (4) suar

68. Identify the correct sentence.
a. His shoes are made of canvass.
b. I am canvassing for my own candidate. _
(1) Only a is correct (2) Only b is correct
(3) Both a and b are correct {(4) Both a and b are incorrect

69. Identify the meaning of the underlined words.
The old couple was murdered in the wee hours.
(1) difficult hours (2) peak hours
(3) atdawn (4) in the evening

70. Kindly help me.
The above sentence is
(1) Assertive (2) Imperative
(3) Interrogative (4) Exclamatory
Froe HHEHEIS) S / SPACE FOR ROUGH WORK P.T.O.
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71.  Choose the correct synenym for the underlined word.
At the time of elections, political parties accept deserters from other parties.
(1) patriot (2) honest (3) wicked (4) runaways
72. Identify the correct meaning of the underlined words.
This house is an apple of discord between the two brothers.
(1) a wild goose chase (2) a precious object
(3) an object of great love (4) a bone of contention
73.  Select the correct indirect form of the sentence.
He said, “Can you swim?”
(1) He asked me if I could swim.
(2) He asked me if I can swim.
(3) He enquired whether I swam.
(4) He asked me if you could swim.
74.  Which one of the following is a distributive pronoun ?
(1) Those (2) Some (3) Each (4) Whose
75.  Which of the following sentences indicate ability ?
(1) I could lift the box by myself.
(2) 1 may lift the box by myself.
(3) I willlift the box by myself.
(4) Ican lift the box by myself.
76.  Substitute the underlined word by choosing the correct alternative given below :
Some writers depict mundane reality.
(1) dull and ordinary (2) events that may not happen
(3) physical or mental sufferings (4) exciting
77. What [ ] No news even today [ ]

Use appropriate punctuation marks in the brackets.
(n ! 2 2! @ ?? 4 !?
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Choose the sentence with correct use of modal auxiliary.

a. She didnt eat much of breakfast.

b.  You ca’nt see much of a country in a week.

(1) Only a is correct (2) Only b is correct

(3) Both a and b are correct (4) Both a and b are incorrect

790

The meaning of ‘take to heart’ is ;
(1) take something into the heart (2) feel deeply
(3) feel the pain (4) expressjoy

Make the adjective of the word ‘occasion’.

(1) occasioned (2) accusational
(3) occasional (4) occasionally

81.

Choose the correct passive form of the following

The Police has sounded a red alert in the city.

(1) A red alert had sounded in the city by the Police.

(2) A red alert has been sounded in the city by the Police.
(3) A red alert been sounded in the city by the Police.

(4) A red alert had been sounded in the city by the Police.

B2,

Identify the sentence with the noun clause.

(1) He was doing something which was unacceptable.
(2) To be honest I am not sure what to do.

(3) The family who live opposite our house is Bengali.
(4) That he gave a false name was really a crime.

Identify the correctly speit word. A
(1) Suspitious (2) Suspiceous
(3) Suspisious (4) Suspicious

Fill in the blank.

Please come straight to the point instead of .

(1) Dbeating about the roses (2) beating up

(3) beating about the bush (4) beating a retreat

Foeq] HTHRAIS! ST / SPACE FOR ROUGH WORK P.T.0.
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85. The feminine form of the word ‘czar’ is
(1) Czarin (2) Czarina (3) Czarees (4) Cgzareena
88. Choose the correct meaning of the underlined idiom.
You failed to strike while the iron was hot.
(1) act with promptness when the opportunity comes
(2) strike the hot iron
(3} hot iron bends fast
(4) act with lethargy
87. Fill in the blank with appropriate tense form.
He since 8 o’clock in the morning.
(1) has been sleeping (2) is sleeping
(3) was sleeping (4) had slept
88. Identify the meaning of the mood expressed in the sentence.
Be regular in your studies. |
(1) Command (2) Prayer
(3) Exhortation (4) Desire
89. Rewrite the sentence removing too’ from the following sentence :
These mangoes are too cheap to be good.
(1) These mangoes are cheap but good.
(2) These mangoes are so cheap that they cannot be good.
(3) The mango is cheap and good.
(4) The mango is very cheap.
90. Choose the best word which expresses the meaning of the given word.

Eager
(1) Clever (2) Enthusiastic
(3) Curious (4) Devoted
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Read the following passage carefully and answer the questions no. 91 to 95
given below it :

The Election Commission and political leaders have been trying to sell the idea
of voting to the people by telling them that casting their ballot is their civic duty, a
responsibility they must shoulder. This is entirely the wrong approach and the
wrong choice of words. Terms like ‘duty’ and ‘responsibility’, laudable as they are,
have connotations of the wearisome burdens that the common man or Aam Admi
must labour under in day to day life. The last thing that the common man wants to

hear about is yet another duty, yet another chore that must be performed.

How does one turn a dreary chore into an exciting enterprise ? By doing what
Mark Twain’s Tom Sawyer did when he was given the task of painting the family
fence. He went at the job with such gusto that he convinced his watchers that
painting fences was a fun activity, and soon had them willingly do the chore for him.

Those who want the common man to vote, should use Tom Sawyer’s carrot of
exciting entertainment instead of the stick of stern duty. For most of the time, so
called common citizens are acutely aware — both in the metaphorical as well as

literal sense, thanks to frequent electricity failures — that they are quite powerless.

However, the one occasion they can turn tables on their rulers and wrest power
from them is on voting day, when ejecting a smug incumbent from office or giving a
brash contender a well-deserved comeuppance. It becomes as enjoyable and
satisfying a spectator-cum-participatory sport as watching Sachin hit a gixer. Just as
cricket has its glorious uncertainties, elections with its inglorious uncertainties can

provide greater sport.

Like painting Tom Sawyer’s fence, elections can be made entertaining and
empowering activity. It should be an invitation to the populace to come and enjoy the
process of pushing in or pushing out a campaigning hopeful.
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91. In the passage the writer is referring to some vital issues. Choose the correct
options. :
a.  Election is not a mere civic duty.
b.  Voting should not only be a duty or responsibility.
c. Common citizens are aware of their powerlessness.
d. Common citizens can enjoy voting as a sport.
(1) Onlyaandb
(2) Onlybandc
(3) None of these
(4) All of these
92. Choose the correct options.
When Tom Sawyer was given the difficult job to paint the fence alone, people
willingly came forward to paint because
a. He called them to join him as a duty
b. He went about his job with great enthusiasm
c¢. His work attracted others as a fun activity
d. He made people aware of their failures
(1) Onlyaandb (2) Onlybandec (3) Onlycandd (4) Onlyaandc
93. The phrase ‘carrot and stick’ means
(1) Dealing with a horse
(2) Chew a stick
(3) Reward and punishment
(4) Lift a carrot with a stick
94, Choose the word(s) which are similar in meaning to the word ‘smug’ as used in the
passage.
(1) To be happy {2) To feel lost
(3) Todream (4) To feel satisfied
95. Choose the antonym for the word ‘Laudable’.

(1) Commend {2) Celebrate
(3) Condemn (4) Admire
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Read the following passage carefully and answer the questions no. 96 to 100
given below it :

Meghnad Saha and Shanti Swarup Bhatnagar, besides being outstanding
scientists in their own right, were equally important as organizers of research and as
founders of scientific institutions. Both were favoured by history, having appeared as
mature scientists on the national scene at that point in history when the Second
World War had changed the pace and pattern of research the world over.
Independence opened before them a virgin land awaiting scientific leadership. The
era of collective work had begun. The small laboratory was now replaced by
large-scale planning, expensive equipments and a big budget.

Both Saha and Bhatnagar began their work during British rule, but under
different circumstances. Bhatnagar had connections with the scientific industry from
the start; Saha had none. However, both were pioneers, although they differed in
style and both hastened a process of change in the scientific and technological
climate of India.

Meghnad Saha, the fifth child in a family of eight, was born in 1893, in a
village near Dhaka. His father owned a small grocery shop and preferred having
Meghnad in the shop instead of sending him to school. However, Meghanad
succeeded in going to school, mainly through the efforts of his elder brother and his
primary school teachers, all of whom were impressed by his unusual knack for

learning.
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What was common between Meghnad Saha and Shanti Swarup Bhatnagar ?

(1)
(2)
(3)
(4)

Both studied in the same school.

Both belonged to farmers’ families.

Both began their work during British rule.
Both married foreigners.

97.

How did independence help Meghnad Saha and Shanti Swarup Bhatnagar ?

(1)
(2)
(3)
4

Independence gave them political support.
Independence offered them new opportunities.
Independence gave them freedom to work.
Independence gave them financial support.

In what did Meghnad Saha and Shanti Swarup Bhatnagar differ from each other ?

(1)
(2)
3)
(4)

Style
Leadership
Knowledge
Financial status

Where was Meghnad Saha born ?

(1
(2)
@
(4)

Madras
Delhi

A village
Kolkata

100.

What was the contribution of Meghnad Saha and Shanti Swarup Bhatnagar to
Indian science ?

oy
(2)
3
(4)

Invention
Education
Scientific leadership

Social service
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101. 1857 =A7 I31ETE Yeict BRI IV SR TR SR F5gd 7

(1) =odER TmIard i (2) & B Ao
(3) M R (4) T AR AL
Which of the following was not a political cause for the Revolt of 1857 ?
(1) Dalhousie’s Imperial Policy (2) Subsidiary Alliance System
(3) Inam Commission (4) Doctrine of Lapse
102. 1 FHB I B T AHAT AT,
(1) =i st (2) S AT
(3) i doh (4) e v
During the tenure of ___ the Subsidiary Alliance System was introduced.
(1) Lord Dalhousie (2) Lord Cornwallis
(3) Lord Wellesley - (4 Lord Clive

103. fEgafRm A1 v AU IRG R vl ?

(1) TR (2) wE TR

(3) o T (4) b T T

Which Pact is well-known for bringing together the Hindus and the Muslims ?
(1) Pune Agreement (2) Lucknow Pact

(3) Simla Agreement (4) None of the above

104, 1991 Wefiet s Saredhie garumit Eeiiads SR 119 eed R ?

(1) e (2 T
(3) . T (4) IR MEhB
Which of the following names is closely associated with the banking reforms in
19917
(1) Ahluwalia (2) Sundharam
(3) M. Narsimham (4) D.R. Gadgil
105. 18 %gar, 1823 OSft T S g0 A9 .
(1) 7M. e (2) wEafH FH
(3) e g e (4) TGS O AT
was born in Pune on 18th February, 1823.
(1) M.G. Ranade (2) Sarvajanik Kaka
(3) Gopal Hari Deshmukh {4) Gopal Ganesh Agarkar
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106. Y HivEt T gwerst waRiHt e g ?
(1) T woEet (2) VawaiaT A
(3) g™ (4) AW @
Which of the following books was written by Tukdoji Maharaj ?
(1) Rashtriya Bhajanavali (2) Shetkaryacha Asud
(3) Tritiya Ratna (4) Gram Swarajya
107. WERIEWE SEARA 9ads wiofl g8 Fefl ?
(1) e &l SqE (2) =g foET St
(3) wewa Mfag TS (4) ARRIV T
Who atarted the library movement in Maharashtra ?
(1) Gopal Hari Deshmukh (2) Mahatma Jyotiba Phule
(3) Mahadev Govind Ranade (4) Narayana Guru
108. =N e :
GuIT GERS T T
A, JEH T L TS (FAfeh)
¥, qfEar vEi I & (FE)
%, T T AP 1L wresaw (fygtf)
s o uA. vieR v, e ()
H C] < -4
1 1w I II I
(2) I 11 I v
3 Iv I IT m
(4) III 1} I v
Match the following :
Social Reformers Birth Place
a. Justice Ranade I Gangamule (Karnataka)
b. Pandita Ramabai II. Tembhu (Karad)
c.  Gopal Ganesh Agarkar III. Malvan (Sindhudurga)
d. Dr. R.G. Bhandarkar IV. Niphad (Nashik)
a b c d
1 IV I II 1
(2) 1I I I v
3 IV I II 11
(4) III I I v
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109, <S=] @M :

d. O TGO TEEH L e amA
o, W 9 II. el b SURd
F. W TR L. ‘o R i
EAR = A S IV. ‘sreongd
A q o g
1 I Im I v
@ m v 1 1
3 Iv I I I
(4) I I v II
Match the following :
a. Dadoba Pandurang Tarkhadkar L Reading of Inscriptions
b. Baba Padamji II.  Raising of Elphistone Fund
¢. Jagannath Shankar Sheth III. ‘Dharma Vivechan’ Granth
d. Bhau Daji Lad IV. ‘Aruncdaya’
a b c d
1 1 I II [AY
(2) III IV II I
3 IV 1 I1 I

(4) I I v II

110, WBARE! AR I TI & FIHENT & HAET ST FEHE Ut B 2

(1) 9% TgeH (2) e & e

(3) WS g A8 (4) T FT MES

Whose help was taken by Balshastri Jambhekar while starting the newspaper
‘Darpan’ ?

(1) Bhau Mahajan (2) Gopal Hari Deshmukh

(3) Bhau Daji Lad (4) Gopal Krishna Gokhale
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SpahiesAT JaUT fisfivaardt weat Sive aregurReE s & g ?
(1) TR gl aEER

(2) FEATEHA A

(3) WS gl @

(4) SREEE

Name the social reformer who was appointed as the tutor of the prince of Akkalkot
by the Government.

(1) Dadoba Pandurang Tarkhadkar
(2) Balshastri Jambhekar

(3) Bhau Daji Lad

(4) Lokhitwadi

112.

‘e fée’ s Eeflaih o 29 T el 2

A, O

9.

F. gl

T W

(1) e 3 e« (2) W 3, G AT F
(3) ST, F AW 4) TRN,FAMS

Which of the following nations gave recognition to the ‘Azad Hind’ Government ?
Japan

Germany

Italy

France

(1) Onlyaandb (2) Onlya,bandc

(3) Onlyb,candd (40 Onlya,candd

S

113.

T, T fer wfdrex @ farmedf aR & ?
1 93 (2) =T
(3) gER (4) Tf¥es

At which place did Shirish Kumar, Laldas, Dhansukhlal, Ghanashyam and
Shashidhar were killed in the firing on the procession of Quit India Movement ?

(1) Dhule (2) Jalgaon
(3) Nandurbar {(4) Nashik
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114. Y& ToRATS! <A1 FIAFAER HIevlt &0

3.  ANFE WRA

9. figrum amfore Ruscften smifam

F.  HHR ed CIA a3 THH @HHT Fear

3. Tgem fosfie smifemm

1) A,%,49,T (2) 9,4,%,3
3) A,8, 5,9 (4) 9,5, 8, A

Arrange the following organizations in their chronological order :

a. Abhinav Bharat

b. Hindustan Socialist Republican Association

c.  Near Kakori railway station the government treasury was raided

d. Hindustan Republican Association

(1) a,eb,d (2) b,a,cd
3) a,d,cb 4) b,c,d,a
115. . @eh wWrfFrer g anfih wft’ @1 awea el S R ggwm Tegar ?
A Akt R
9. [
%, G 3
T ifowm dger
(1) w5 A (2) $H A |
(3) wFF AT (4) wad A AN F
Who from the following women did nof participate in Dr. Laxmi Swaminathan’s
‘Rani Jhansi’ regiment ?
a. Janaki Thivi
b. Bela Dutt

c. Sargjini Devi

d. Preetilata Waddedar

(1) Onlya (2 Onlyb

(3) Onlycandd (4) Onlyaandc
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116. e A 1906 =1 ofta ivean arftEerra @refierlieh wivmr @aw fe ?
A, THAEH @
9. @ fear
%. @S UHA 96 U
T, higr I T w0
1) wRmAAMT (2) I A AN P
(3) wad A, F nfor & (4) wFIT, FHAMS
In 1906 Session of the National Congress, which of the following messages were
given by Dadabhai Naeroji ?
a. Live Unitedly
b.  Achieve Swaraj
¢. Continuation of National Movement
d. Divide and Rule
(1) Onlyaandb (2) Onlyaande
(3) Onlya,bandc (4) Onlyb,candd
117. wrarw Raarem =fadt Faear sriad, de o date-fig gaolt woF, 1919 7=
e feot €1 7
(1) eI e (2) ufea v
(3) T T3 (4) rafaerad MEs
In 1919, who was given Kaiser-E-Hind gold medal for the upliftment of women in
India, by the British Government ?
(1) Mahatma Gandhi (2) Pandita Ramabai
(3) Ramabai Ranade (4) Avantikabai Gokhale
118. 1920 Wil T Fien Aflaw WA FoR T qfdd sreaw wom i<l
fAaz e,
(1) o sma st (2) @ T
(3) o A g (4) HEgs TR

was elected as the first President of All India Trade Union Congress
(AITUC) established in 1920.

(1) Shripad Amrit Dange (2) Lala Lajpat Rai
(3) Narayan Meghaji Lokhande (4) Kawasji Nanabhai
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119. 18 W=, 1901 U5k, ‘fewaifen wuar 9ifdw o wiewn aufomerh T it
¥,
(1) e Fon e
(2) Tord g HeR
(3) wefi &
(4) Trw. S
On 18% April, 1901, the first hostel ‘Victoria Maratha Boarding’ was established by
(1) Gopal Krishna Gokhale
(2) Rajashri Shahu Maharaj
(3) Maharshi Karve
{4) N.M. Joshi

120. fasp v, GfRker famash Fem faawe qrardha fadus S g 2
H. fa @ v Twer
9. TRAEE THgEHt

%, dpgaa)

3. e F MEa

(1) S| A (2) % gonfns
3) wwHAMS 4) e 3 "
Who was/were the opponent(s) of Vishnu P. Pandit’s marriage with a widow in Pune ?
a. Vithoba Anna Daptardar

b. Narayanacharya Gajendragadkar

¢. Lokhitwadi

d. Gopal Krishna Gokhale

(1) Onlya (2) Onlybandd
(3) Onlycandd | (4) Onlyaandb

121. WTEliAtR Hioer TEaiis FeHar gat eha i moE SeEdl I ?

(1) foe=n (2) ur=E=T

(3) am=r (4) W

Which of the following Five-Year Plans was called the Second Green Revolution ?
(1) Third (2) Fifth

(3) Sixth (4) Seventh
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122, ‘Frws € il Frerdt Sfiete! S e IeEd ?
(1) IoERElE I g o
(2) SwhREfE Rl o
(8) IR G TS A
(4) Iwiaftr fFraerfa o
Aloe vera (Korphad) a medicinal herb grows in which of the following forests ?
(1) Tropical dry deciduous forests
(2) Hot tropical thorny forests
(3) Tropical moist deciduous forests
(4) Tropical semi-evergreen forests
123. sl @
fas? Feari
a1, fog L. e — =9
4. @ II. SRS 98 - Herd
. difers @ . % -
EAE R )| v, foefm - e
H o h s
1 Iv 11 I II1
(2 II I I v
@ 1 111 v I
4 III 11 v
Match the following :
Passes Connects
a. Diphu I India with China
b. Khardung II. Arunachal Pradesh with Mandale
c. JelepLa III.  Leh with Siachen
d. Nathula IV.  Sikkim with Lhasa
a b c d
(1 1v II 1 I
(2 I III I w
3 1 II1 v 1
(4) III II v I
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124, g P RemEzIm SEfE oot 3E WY T WeAW IO RS Rd HROT
A it Ty o Ao T,
9. IO TSAIqd ST Iy,
%. g a1 g € TR 9o TR g

Fhadh o foae/faam S0 g ?
(1) waa A . (2) 3,9 Afr=
(3) wEd g i &% (4) %ad 3 Ir =%

Many small and medium scale industries have sprung up in Hyderabad and
Visakhapatnam industrial belt because

a. of its geographical location and its climate.

b. of availability of labour from Northern states.

c. Hyderabad and Visakhapatnam cities are twin cities.
Which of the above statements is/are correct ?

(1) Onlya (2) a,bandc
(3) Onlybande (4) Onlyaandec

125. qOT vl RV & ?
(1) wem/daa 15 faaw 0-025 & .+, Yan ot g
(2) ww/Eda 29 fad 0-025 .41, Y F W
(3) wevEdd 15 fiaw 0-01 30, I w=ft wem
(4) wem/Eaa 30 feaw 0-0 T Yen @ v
What is absolute draught ?
(1) Less than 0-025 cm rainfall continuously for 15 days
(2) Less than 0-025 em rainfall continuously for 29 days

(3) Less than 0-01 cm rainfall continuously for 15 days
(4) Less than 0-0 cm rainfall continuously for 30 days

T HETEIST oI / SPACE FOR ROUGH WORK P.T.O.
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126. TEGETST YSIE AERERE AATed R N@edTd
. HEEwwEd 9 gwme R
4. gIESH 9 IGHNH GSHYS TS W AGSaTd.
%. TOERY THEIN 3fchyH TaEurl 8.

Fhedh wod/Roe frum/fAam sist ama ?
(1) »F (2) a1 M %
(3) e I omftr g 4) @, sanfors

Horizontal Lava layers observed on Deccean Plateau

a. are formed by Fissure Volcanoes.

b. are due to limestone and sandstone rocks that made the horizontal layers.
¢. has Lava basic in nature.

Which of the statements given above is/are correct ?

(1) Onlya {(2) Onlyaandc

3) Onlyaandb (4) a,bande

127. Gl Fva ead afie g SegET Suge Jetad ?

(1) wufs @2 feda
(3 T (4) =@
Which of the following occupations increases the utility value of resource ?
(1) Primary (2) Secondary
(3) Tertiary (4) Quaternary

128. WIEIEAH HIUR TEE TEWR AR TEOE B A ?
(1) NH6 snfti NH 7 (2) NH 3 anfet NH 4
(3) NH3 anfor NH 12 (4) NH 14 3f NH 16
Which of the following National Highways cross Nagpur city ?
(1) NH6and NH 7 (2) NH3and NH4
(3 NH3and NH 12 (4) NH 14 and NH 16

129. WRRIEM GATENTIS Hald Y@ 99eT g

(1) st Seareeha (2) wisaaTH FHAw

(3) FriEw SIS gl (4) vTEEHR gR

The most important problem of horticulture industry in Maharashtra is
(1) Less productivity (2) Secarcity of capital

(3) Inefficient market facilities (4) Government policy
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130. TR G FHIHE 39 ydaq frew U A
(1) gt (2) TEESIR
(3) TR (4) ghwEgs
The second highest peak of Maharashtra is
(1) Kalsubai (2) Mahabaleshwar
(3) Salher (4) Harishchandragad

131, TRE 19 =47 IqEEEd $OE TWE A 1991 e THE senfie gro I e
greftadd) = IEEY FHiow ?

At e s e Freeg 7F S,

st sreferae e ST AewTard SeieE A S,

¥ T T Frau wwE.

AR ST W F o,

(1) BEd o MM«

(2) %F & T 6

(3) e b oM

(4) et wd

The Congress Government led by Mr. Narsimha Rao announced the New Industrial
Policy in July 1991. Which of the following are its objectives ?

a. To unshakle the Indian industrial economy from the cobwebs of unnecessary
bureaucratic control.

b. To introduce liberalisation with a view to integrate Indian economy with the
world economy.

¢. To remove restrictions on direct investment.
d. To shed the load on public sector.

(1) Onlyaandb

(2) Onlybandc

(3) Onlycandd

(4) All of the above
mm&ﬁ 9 / SPACE FOR ROUGH WORK P.T.O.
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132, . ﬁmmﬁm

9. HEWFe fatr saEeeE Ry,

%. s GermAfidad tem aft Qe ot

. Toam 3 R s @4,

FeAth! FIveaT FrEHAET T, Gerliew 3 oo afea-Rar srisma

HHTAN g ?

(1) Ot wd (2) w&a A anfor &

(3) ad d o7 % (4) ®FdF oA

d.

Allocation of resources for agriculture,
Introduction of Public Distribution System.

Provision of additional employment through various employment guarantee
schemes.

More expenditure on education and health.

Which of the above measures can be proudly termed as anti-poverty programmes
under Liberalization, Privatization and Globalization (LPG) ?

(1)
(3)

All of the above (2) Onlyaandb
Only b and ¢ (4) Onlycandd

133. it SmrfebreRTorrT siseda T AR guem TR sdera A gE wiedl.

(1)
(2)
(3)
4)

gfmroreres Fida i/ F=o
SRl AETSATd 91¢ H0
et =€) arem
fRedt s 918 B

New Economic Reforms went in for a more rapid globalisation of Indian economy by

(D
(2)
(3)
4)

Reducing and/or abolishing quantitative restrictions
Increasing tariff barriers
Prohibiting exports

Increasing non-tariff barriers

THOT HMIS! AR / SPACE FOR ROUGH WORK
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134, @ &R R VOl T .

AF. FN
3

T

R L

Fhedhr s fees/faar st angd ?

(1) S+ {2) Bad €
(3) R A AMMT (4) wR
Tertiary sector is also known as sector.

o 4 2

a. agricultural
b. industrial

c.  service

d. manufacturing

Which of the statements given above is correct ?

(1) Onlyc (2) Onlyd
(3) Onlyaandb (4) Onlyb

135. S 1991 TS WIHRA e 9 WA IErTen TER Flea.
A, WESAS I T .
4. TEH G St SunE T,
®. TP "gear=Al I A,
. WG fEEer e sae ).
(1) e g (2) A
(8) %« (4) %ad A o §

In July 1991, the Government removed Iron and Steel industry from
a. the list of industries reserved for public sector.
b. the list of industries exempted from compulsory licensing.
c. the list of industries of national importance.
d. the list of industries with less import controls.
(1) All of the above (2} Onlya
(8) Onlyb {4) Onlyaandb
WORT BATETS! ST / SPACE FOR ROUGH WORK - P.T.0.
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136. =84 SHR FhR dara Idreswar T,
(1) ST I
(2) =iia ot
3) T

4) X
The marginal productivity of disguised unemployment is

(1) maximum
(2) minimum
(3) ome

(4) zero

137, wETaRa qraafre faar yomett siwfa ma @ g% wwam e,
A T
il

&N

. A A

At For e adew angd ?

(1) %dd A

(2) ®Fd o

3 SHH

(4 $E

pricing structure was introduced under the Targeted Public Distribution

o 9 o

System.

a. Single

b. Dual

Four level

d. None of these

Which of the statements given above is correct ?
(1) Onlya

(2) Onmlyb

(3) Onlyec

(4) Onlyd

e
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138. @l fETi A SF IR0, F1 @l SElier SEr R Fo anfey et S
ARAW TE U 47 FEh GRornitel S RO Hiod 2
(1) THRe d I Aft vrufors ST ane. '
(2) GHREAT do ITPTER Afh Frmur Jam= ame.
(3) wEIF RATAT Jhl eI .
(4) GTHRA AIGH bl G/ TR,
New private sector banks have been set up, old private sector banks have been

expanded and more foreign sector banks have entered the Indian banking industry.
The reason for this is

(1) Government wants the banking industry to be more competitive.
(2) Government wants more regulation on the banking industry.

(3) Public sector banks are into losses.

(4) Government was forced by the World Bank,

139, TRR Y@ I Geterht Hiord ?
(1) T e quid 100 RawrEh tormish gft 2o o mmmw
(2) I FEGA IR 20,
(3) Wl &AW Yo 3o
(4) oS Sowd T
Which of the following is the main objective of MNREGA ?

(1) To enhance livelihood of the people in rural areas by guaranteeing 100 days of
wage employment in a financial year.

(2) To provide employment to agricultural labour.
(8) To provide employment in urban areas.
(4) None of the above

140, fiy s HRau (T8.3.33.) I EEd Tt B ?
(1) og @ Frafagg s
(2) IcUEA @ Vel QAT TG SHIOTE USMTR ITeTa e 20,
(8) wHEWF 9 GRAt 4 WA q TEIRA AU Hor,
4) =t ad
Special Economic Zones (S.E.Z.) are éstablished
(1) To promote exports at an extremely fast rate.
(2) To provide large-scale jobs in manufacturing and other services.
(3) To bring investment in private and public sector from India and abroad.
(4) All of the above
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141. THEYEAT HEMTG Gl SV AET gabid AR ?

(1) ot afior S TEEERY ST AR,

(2) @ dAreuEET gAY 9IH IR,

(3) U auta fo=a foFATM 2 AT 99 ST SR,

4) fa =T HEaye fave =t wwemedt sEdis 3veey w6 few.

Which of the following statements is incorrect about Gram Sabha ?

(1) It is the general body of the villagers.

(2) Itis a fundamental unit of democracy.

(3) In a year conducting minimum two meetings of the Gram Sabha is compulsory.

(4) It provides a platform for the villagers to discuss the important matters.

142, T FUYH HIAT F AR 9= qaA 777 2

(1) =Y (2) IAT T

(3) D B (4) iiagdt

Which of the following taxes is nof a source of revenue of the Gram Panchayat ?
(1) House Tax (2) Tax on Pilgrimages

(3) Toll Tax ' (4) Water Tax

143. UWHaSrT Hevidia g@ie faum fas.
(1) wrdEs aHTaRds i g $W IR T=aE.
(2) =t fge =T FEERgR Felt ..
(3) < TN afua A,
(4) @ umUERdE TEcarh w9 e givmea.

Select the incorrect statement about a Gram Sevak.

(1) A Gram Sevak carries out the daily routine work of Gram Panchayat.
(2) He is appointed by the State Government.

(3) He is the Secretary of the Gram Panchayat.

(4) He maintains the records and accounts of the Gram Panchayat.
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144, T SR gadia swaa Gl am e o
T, wﬁmmmﬁmﬁmﬁwwmﬁ%mmw
&,  JWYEEdAl e sHagrEt g 3av.
3. UMYEEETE HEETe) SIeTR s fide wiese.
I gty fae. :
(1) F,FaUs (2 wFars (3 J,waPrs (¢4 FOa@E
Consider the following statements about the functions of the Sarpanch :

a. Convenes and presides over the meeting of the Gram Panchayat and
Gram Sabha.

b. Collects taxes and prepares the annual report of the Gram Panchayat.
¢.  Supervises over the financial matters of the Gram Panchayat.

d. Maintains the records and accounts of the Gram Panchayat.,

Select the correct code.

(1) a,bandc (2) b,candd 3) a,candd (4) All the above

146. HENTE VORI =aeq T AT SATA.
(1) 191960 (2) 1%1959
(3) 1%1961 (4) 17W1962
In Maharashtra, the Panchayati Raj System was implemented from
(1) 1™ May 1960 2 1% May 1959
(8) 1% May 1961 (4) 1°* May 1962

146. GAEHh Hiv fegr TRt Eh TE Tl ?

(1) e @2 fregiusd

(3) e wEwH 4) getwd

Out of the following who is the administrative head of Zilla Parishad ?
(1) The President (2) The Collector

(3) 'The Chief Executive Officer (4) The Chief Officer

147. 2015 9= e SAEd) Aeet qiEite AT Sredine faure d9. aitaieersr sut am
TH I T T Sl AT aRA W e, W Red Y giiaifts T
e e, '
(1) fdm (2) <fdor S
(3) wdS=Al (4) St
Nobel Prize in Medicine, 2015 was divided among three persons. Half of the prize
was shared by a US and a Japanese scientist and the remaining half went to a
scientist.
(1) British (2) South Korean
(3) Canadian {4) Chinese
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148. e = i IrEdt @elia I Hesiqeas are ¢
#.  1/3 9rn g HAEd ARfEa stHan.
q.  50% 9P wigaEe AnfEE s,
%, 27% 9PN TR AEmESiaEd sl swarn.
3. ggRe Iifd 9 sgfua ST e SiREEEar T AR 3Ed.

oy g faer.

1 & &t x 2 s, FAUS

(3) HA,vAMS (49 [, "afns

Read carefully the following sentences related to the reservation of seats of the Zilla
Parishad :

a. 1/3™ seats are reserved for open category.

b. 50% seats are reserved for women.

c. 27% seats are reserved for OBC.

d. Seats are reserved for the SC and the ST in the proportion to their population.

Select the correct code.
(1) b,canda (2) b,candd
(3) a,candd (4) a,bandd

149, g aftee=a Pl Geiatd faam foramme w
x. fawm 2w anfh wwew vafam,
q,.  wal W watfin e .
%. forcgadia S siaaamm=n et arefam.

g&ire 3w s
(1) wHR FAars (2) wH &
(3) TH® ' (4) = wE

Consider the following statements about the functions of the Zilla Parishad :
a. Implementation of development schemes and projects.

b. All round development of the urban areas.

c. Improve the quality of the life of the people in the district.

Select the incorrect answer. _
(1) Onlyaandc (2) Onlyb
(3) Onlyc (4) All the above

T SHRIIS! SR / SPACE FOR ROUGH WORK
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150, Nemoiwcsn vdoumm et des _  forne ueer alt A,
(1) 3 wfe=a (2) i wfe=ar
(3) TH iAW | (4) wE AR
The general body of the Zilla Parishad meets at least once in
(1) two months (2) three months
(3) one month (4) six months
151. @ifiadshl o fau™ st s ?
N WRAR FE oA el st o,
¥, fqurafedia sl vewa mfdsfa s,
%, fumaiweda F@t wem voam SeehgT FRasa .
(1) s (2) 9 H
3) = (4) o, anfrs
Which of the following statements are correct ?
a. Only some States in India have the Legislative Council.
b. Some members of the Legislative Council are nominated.
c. Some members of the Legislative Council are directly elected by the people.
(1) aandb (2) bandc
(3 aandc (4) a,bandc
152. wreitd faam aar -

9. IH AEEEHE TeT 3 s e s a7 62 9§ o,

F. I GATERE =R g ugudisgy v el S,

el I o™ SeR 21ea ?
1 ke (2) w@3nfmi=
3 Fafr=w 4) F,TFUF

Consider the following statements :
a. The Judges of the High Court are appointed by the President.

b. The Chief Justice and other Judges of the High Court retire at the age of
62 years.

¢. The number of Judges of the High Court is determined by the President.
Which of the statements given above are correct ? '

(1) aandb (2) bande

(3) aande (40 a,bandec

Toe] BIHTHIS! AR / SPACE FOR ROUGH WORK P.T.O.
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153. w@reftar faum ver -
¥,  WEWE AiHad) AT oA 9 Heeidt Fgal wn. asadTerieg et I

q.  WERIE HEAT SRS ey 9 gee faddt 99 62 ¥ fahar 83 | av of A
| T — AR F et A A o AR AR,

Tteth HrR/d /A e s/ 7
1) &R A (2) T
(3 Homre (4) TAH AE

Consider the following statements :

a. The Chairman and the members of the MPSC are appointed by the Hon’ble
Governor,

b. The age of retirement of the Chairman and the members of MPSC is 62 years
or completion of 6 years in service whichever is earlier.

Which of the statements given above is/are correct ?
(1) Onlya (2) Onmnlyb
(3) aandb (4) None of these

154. Wrefier fAym g ;
A, HGE @ TS aSElie Fn .
4, 1971 7ok wdyyw AGm () T dEga g i A,

Tliciid SIvra/d faum/A Slst sng/a ?
(1) %o ¥ (2) wHT
3 e (4) arh T

Consider the following statements :

a. Lokayukta is a State level system.

b. Odisha was the first State to establish Lokayukta in 1971,
Which of the statements given above is/are correct ?

(1) Onlya (2) Onlyb

(3) aandb (4) None of these
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wrefie o va -

. HRIMEEAT fqameia wear 78 U9IEg Ald.

9. gefte Tsaren fAumaen Reeufe st@ra s AR o,
Tl o/ faumy sttt sma ?

(1) %A (2) BT

(3 A (4) TR TIE
Consider the following statements :

a. At present there are 78 members in Maharashtra Vidhan Parishad (Legislative
Council).

b. The concerned Legislative Assembly has the power to dissolve the Legislative
Council (Vidhan Parishad).

Which of the statements given above is/are correct ?
(1) Onlya (2) Onlyb
(3) aandb (4) None of these

156‘

o anfirrean deuia TRl R fum g% o 2

A <o BT T W At SR

¥, SRy Nt wra A 9@ afi arevregata SR e TR,

(1) %R A (2) v«

3 Aanfurs (4) I T

Which of the following statements about South Asia is/are wrong ?

a.  All the countries in South Asia are democratic.

b. Bangladesh and India have signed an agreement on river-water sharing.
(1) Onlya (2) Onlyb

(3) aandb {4) None of these

157.

WE-Ifehe deiEEs @elid faum var
A, dL, 1960 A WG i arferear @it &y €} aroft ared R S
9. B, 1998 W NRG My wifeRwE it Tv) e e,

TR o/t e s amera 2
(1) %A (2) W«
(3) Aafrs (4) TR} T

Consider the following statements with reference to India-Pakistan relations :
a. India and Pakistan signed the Indus Water Treaty in September, 1960.
b. India and Pakistan conducted the nuclear tests in May, 1998.

Which of the statements given above is/are correct ?

(1) Onlya (2) Onlyb

(3) aandb (4) None of these
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158. <for iR aeerna Ereliads S 20 Aecaret e seEa e ?

(1) W@ @ =

(3) ol (F.EA.u,) (4) <l wd

Which of the following countries played the key role in South Asian politics ?
(1) India (2) China

(3) USA (4) All the above

169. wrelie faum 97
@, i TR dfte SgE W A,

. 1989 A= sivihe IGEUYHT et WRAH e Wit A4 o W SeaEa.

i SR/ RuamA ate s ?
(1) %A (2) S ™
(3) Jaafrw (4) TR

Consider the following statements :
a.  Politics of Sri Lanka is dominated by Tamil community.

b. In 1989, the Indian Peace Keeping Force (IPKF) was pulled out of Sri Lanka
without attaining its objective.

Which of the statements given above is/are correct ?
(1) Onlya (2) Onlyb
(3) aandb _ (4) None of these

160. it Hiv fEE/A WL MR/ ?
A, O Gt e 1985 wed Tt femeht A9 sk
w7 T Rech } o = goE om.
F. Wl (2016) Uik WESAHES HTS SUTHT GHEY TR,
(1) ®F (2) SFd A AT =
(3) waaE AW & (4) wH®
Which of the following statements is/are true ?
a. SAARC was formed in 1985, at New Delhi.
b. The headquarters of SAARC are at New Delhi.
¢. At present (2016), the SAARC consists of eight member countries.
(1) Onlya (2) Onlyaandb
(3) Onlybandec (4) Onlyc
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161. dWh (SAARC) i3
(1) 3 H59 TRRA FEIRHEA R G FIATRem
(2) T WISY ATHEH ARITIH BR fore ST
(3) T WY URRA IEIREA BR delifme S
(4) T Uy RrE MR Bt foe SR
SAARC stands for
(1) The South Asian Association for Regional Cooperation
(2) The South Africa Association for Regional Cooperation
(3) The South Asian Association for Religious Cooperation
(4) The South Asian Association for Regional Coordination

162. WrElieE v 9y wRA S A I A FRer wEn Fe ?

(1) 1947 (2) 1949
(3) 1951 . (4) 1955
In which of the following years did India and Bhutan sign the Treaty of Friendship ?
(1) 1947 (2) 1949
(3) 1951 (4) 1965

163. Grehed FIvR U g gee T7E ?

(1) wregE (2) y@m

(3) AR (4) AR
Which of the following nations is not a member of SAARC ?
(1) Maldives (2) Bhutan

(3) Afghanistan (40 Myanmar

164. WA WY d9 T TOAN AAA drened diAnar Ko ?

(1) s (2) T«

(3) WH-igA W (4) Yol o
Which is the disputed boundary line between India and China ?
(1) Durand Line (2) Robert Line

(3) Mac-Mohan Line (4) Radcliffe Line
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165. AT Walq e e TP HIA ?
(1) wade (2) R
@) dEw (4) wAERE
Which is the closest country to India ?
(1) Maldives (2) Tajikistan
(3) Sri Lanka (4) Bangladesh
166. WRATEA T AHEET™ 439 &7 AR S ?
(1) Tcany el (2) TE.TA. 9
(8) . wenfiem (4) .. IE
Who is the 437 Chief Justice of the Supreme Court of India ?
(1) Altamas Kabir (2) H.L. Dattu
(8) P. Sathasivam (4) | T.S. Thakur
167. 2015 &1 TETERT B AaTg [EHRIGR HIVIAT FHI-G F0FTH AT ?
(1) o =Tf (2) Wi F
(3) WA TUR (4) . AEEKR
Who was felicitated by the Dadasaheb Phalke Lifetime Achievement Award of 2015 ?
(1> Soumitra Chatterjee (2) Shashi Kapoor
(3) Manoj Kumar (4) K. Balachander
168. fivd-faaas A% wwwn 89 = sifea wRdtE Tud wfeer e e Hiv B ?

(1) 3I9u wES

(2) Hu weiE

(3) oaEd frarf Fompofl

(4) AAPFM FHEA

Who was the President of 89 Akhil Bharatiya Marathi Sahitya Sammelan held at
Pimpri-Chinchwad ?

(1) Uttam Kamble

(2) Shripal Sabnis

(3) Dattatreya Bhikaji Kulkarni

(4) Nagnath Kottapalle
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169, 7 IR W (T W) WeAicrihl Fvrn Sami wefig o ?
(1) =i (2) #F=
(8) UG (4) TESHH da
Man Booker Prize (Booker Prize) is associated with which of the following fields ?
(1) Literature (2) Sports
(3) Journalism (4) Public Service
170. wudi ferrve Quew fergeiss/Frdves ®iwr ammaa ?
(1) TR A9e (2) = d wdw
(3) I SNHE (4) T R |
Who is the director of the Marathi movie Sairat ?
(1) Nagraj Manjule (2) Dinkar D. Patil
(3) Kunal Deshmukh (4) Gauri Shinde
171, Fgamd, 2014 WE R 2O G IR TG, (ATM) 13 Tt Soam et 2
(1) feeeht (2 T
(3) icwr 4) ==
Where was the first ATM of the Indian Post established in February, 2014 ?
(1) Delhi (2) Mumbai
(8) Kolkata (4) Chennai
172. WO Ya9yH Wg M T gy Warld gearda afgen @St (LPG) 7a $aee

TS IV ST AT HAVTEAT ?

(1) wurEh geen fam I

(2) TYFEH Isae I (PMUY)

(3) gyl Shem =t fomm @ (PMJJBY)
(4) e e e e

Which scheme is implemented by the Indian Prime Minister, Mr. Narendra Modi for
providing free LPG connections to women from BPL households ?

(1) Pradhan Mantri Suraksha Bima Yojana

(2) Pradhan Mantri Ujjwala Yojana (PMUY)

(3) Pradhan Mantri Jeevan Jyoti Bima Yojana (PMJJBY)
(4) Pradhan Mantri Garib Kalyan Yojana
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173. 1 f¥|, 2016 9RE TEA = 99 (NSC) Flia =gt et o ?
1) 71% ' 2) 75%
3 81% 4) 85%
What is the rate of interest on National Saving Certificate (NSC) w.e.f. 18t April,
2016 ?
(1 71% (2) 75%
3) 81% (4) 85%
174, G U= AT AREEI=AT YAV 60l HHM 918 F°U
A, wHAsl \
g, afregfemn
%, W
3. fiEs
T qafg faen.
(1) #,3,93 (2 %93,
38) 9, #,%,3 4) #,849%F
Arrange the following countries in ascending order according to the size of their
population :
a. Canada
b.  Australia
c¢. Russia
d. New Zealand
Choose the correct option.
(1) c¢,a,b,d (2) d,b,a,c
3) b,acd (4) a,d,b,c
175. i Smaren geidter, framiter s awae: e st shica e

(1) TR et ieadt (2) wifea sraetea TR gl
(3) faedisfie (yEoa wor) (4) T Aigad

The record of active or possibly active criminals in the jurisdiction of a police station
is known as

(1) Conviction Register (2) Known Criminal Register
(3) History Sheet (4) Gunda Register
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176. TR FATUTTR SEIREHR I HW Faa

(1)  FEER q T IEH PIETA SR 6o,
(2) WERH YASE, UM, TEAR weAwe 3.6 st ue.

(3) R T e Rsfie g == smife a,

(4) T wd

What is the role of a photographer in crime investigation ?

(1) Taking photographs of handwriting and disputed/questioned documents.

(2) Taking photographs of unidentified dead bodies, and spots of accidents and
that of crime, ete.

(3) Taking photographs of ‘chance print’ of the crime scene, if developed.
(4) All of the above

177. TR FEEATE Uga (MOB) €ISt ARaA AT @il Fivrd Fdex i wedia ?

(1) Fresardia MOB <1 #MTER @ 9 FUTEvf Fedie

(2) ?mf{wﬂamaﬁm:mg%mm (MOB) =1 ¥=uM JBAE g
(3) WA Jur TRiavdT TR FEW G ST S

(4) w0« wd

The officer attached to the MOB will perform the following duty :

(1) Supervising the working of the MOB and conducting inspections thereof

(2) Imparting instructions to the officers and their men in the district police in the
working of the MOB

(3) Dealing with press cutting on crime matters
(4) All of the above

178.

e e e @ T e FHAAT 39T Hara.

(1) I/AT FATIAT AGTT ANl IS 3a

(2) ST T ST FSAEl 39T

(3) IToAT BAT=AT ST ABACH SHT

(4) ST BT HOSA1 AT FEATT ST _

After conviction, which finger impression should be taken of the convict ?
(1) Right hand’s upturned middle finger impression

(2) Left hand’s upturned thumb impression

(3) Right hand’s upturned thumb impression

(4) Left hand’s upturned middle finger impression

FoeaT HHTE! SR / SPACE FOR ROUGH WORK ’ P.T.O.
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179, TEE TRAITR Tgq FAEE JREE ?
(1) Fadweie SR TUvImETE
(2) afiies AfREA FamE
(3) waTe Al SEhsT MwvEE
(4) ST BRSEH THR MuvEEET
X-ray electronography system is used for
(1) determining fractures in the skull
(2) surgical operations
(3) developing finger prints on the dead body
(4) determining pore pattern of friction ridges of the finger prints
180. Sied TRICT wredia I foret aren wia e Suamar I Tg el ?
(1) 80dH (2) 90d™
(3). 959 (4) 729w
What is the maximum duration in which a smell can be preserved in ideal conditions
to be of any use for the dog ?
(1) 80 hours (2) 90 hours
(3) 95 hours (4) 72 hours
181. THITH, VIS ATl G HAUR YR qUiEy, S99 A0 a3, didt ghiaddh
SHIorAT FRTET ST e S ?
(1) s e e (2) &fpm
(3) s fwma (4) THEE
Which of the following rays are used for checking the parcels containing explosives
and ammunations, searching counterfeit coins, etc. ?
(1) TUltraviolet rays (2) X-rays
(3) Infrared rays (4) Chemical rays
182. WA WMI-4 I FAicadia Greliadshl HurH! 41§ Feft I ?

(1) Tawie RS g (2) TS TR e T

(3) e TeEt g (4) TEEsitG SR g
Which of the following records is maintained in Village Crime Register No. 4 7
(1) Record of crime in the village (2) Village conviction record

(3) Record of gundas in the village (4) Village statistics record

Toeg] HHTIST AR / SPACE FOR ROUGH WORK
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‘Traard € T Foren s weftd am 2

(1) ety W (2) icTTh faam

(3) amed faum (4) FEHTISH

The term ‘Cryptography’ is related to

(1) Finger-print unit (2) Photography unit
(3) Wireless unit (4) Dog squad

184, viehw fsmme wra=re: Qe yam=T GO Shelt wia g7 2

(1) I97Ss (@ i A

(3) st fdegt (4) siawi A=

Which of the following dog breeds is generally not used in Police department ?
(1) Dachshund (2) German Shepherd

(3) Labrador Retriever (4) Doberman Pinscher

186.

TR veARe! Foger fisrRd =i fife frefivam (Isgem wwamd)

(1) g IPeda TEs 39 Hi=, ReedR e, g, ohw F e @ ™ e
I A, 99 foer.

(2) TR IegieRree RRUTST 9T Y wi, Reshis el ui wiw Hew enge 9
TG VM= 9] &I AY HUar.

(3) YW $HRE R IR 9% Fwar 95y, faed= ¥, gy, wiaw Hod ags 3
€ QAT SR SEAT a9 FHET,

(4) =l e TE

To develop chance print found on the scene of offence

(1) Spray universal powder on the surface of glass, window panel, metal, polished
wood and dark coloured articles.

(2) Use ultraviolet rays on the surface of glass, window panel, metal, polished
wood and dark coloured articles.

(3) Use infrared rays on the surface of glass, window panel, metal, polished wood
and dark coloured articles.

(4) None of the above
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52 A
I R R G R AR e
(1) shrew 3fvg fpdfla Fhim Yeah e fdm
(2) wet g oM weask faedm
(8) SHIEH vy I M Aeadk R
@) ffta ofvg Sioger i Jeas fdm
CCTNS means
(1) Crime and Criminal Tracking Network and System
(2) Centre Crime Training Network System

(8) Crime and Computer Training Network System
(4) Criminal and Computer Trackings Network System

187.

1 TR Afafe fertieet Mesfavamard sam.
(1) Fere fartor o (2) TaEeg Tl W
(3) 1000 ¥ T Tl e (4) et o
source is used to get ultraviolet rays.

(1) Infrared rays lamp (2) Quartz mercury vapour lamp
(3) 1000 watt tungston lamp (4) All of the above

1%.

FUE QT 3. qEE TREE aumefl, T@E J@Red FREEHEGT A9l 3. aqEoiard
Trefiertehl v =T am S It 2

(1) sffia fm (2) & fFom

3) ud fem (4) e o

Which rays are used to check fibre materials such as clothes and threads to check
the matter on burnt papers ?

(1) Ultraviolet rays (2) X-rays

(3) Sunrays (4) Infrared rays

189.

Wil guar wrEgr ([EA) THTO! AT ST qUal TV TR 5t 3.
(1) %e|5 (2) w8 (3) Hem9 (4) w7

As per of the Indian Evidence Act (IEA), photographs can be considered
as an evidence in the court.
(1) Sectionb (2) Section 8 (3) Section 9 (4) Section 7

190.

siefige SeEeiy FOAETE TRV 0T 3 Traee I A )

(1) v + 9 2) WA+ &=
(3) UTHIE (4) oTyfftam
Grey powder used for developing finger-prints contains

(1) Mercury + Chalk (2) Resin + Zinc
(3} Graphite (4) Aluminium

TreeT HHITSE SR / SPACE FOR ROUGH WORK

T e b v B et



A

191.

53 -

e 30 fdt ywre st 2
(D
(2)
(3)
(4
How many types of footprints are there ?
(1) Two

(2) Three

. Four

(4) Six

443y
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192,

THITH TUTA.TE.31 J Gielicdeh! HIvd g2 R ?

(1) wifREm TR 3 we
(2) it TEgHEe 9 wEe Aide

(3) I Tragre @ wuw ida
(4) IR A 9 Hue A

Which are the contents of the explosive ‘ANFO’ ?

(1) Ammonium Nitrite and Fuel Oil
(2) Amyl Nitrite and Fuel Oil

(3) Antimony Nitrite and Fuel Oil
(4) Ammonium Nitrate and Fuel Oil

193.

Qreflerdeh! Sivar e g1 3= THieH M8 ?

(1) 9ERem e

(2) URERISH FARe

(3) Hwd.

(4) ffis ofdie

Which of the following is a high explosive ?
(1) Potassium nitrate

(2) Potassium chlorate

(3) TNT.

(4) Picric Acid
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194, B I N FH
(1) THEASITEATET A%
(2) RN Wed HOM &G
(3) WO TR FOM T
(4) TIHEET HEd FOR I
What do you mean by Forensic Science ?
(1) Study of chemistry
(2) Application of science to law
(3) Study of animals science
(4) Science helping to pblice

195. REERAS SIS TN JRATAYOMUETS! TSRAMT Tefai Sivedh e wardt ?

(1) Heu

(2) PEmTEnEte di| TN T nvuwEEde Hie Iefn

(3) TFRATSAT HEd HE qeHE

4) iNw

What care should be taken by the Police for forwarding exhibits to Forensic Science
Laboratory ?

(1) Exhibit

(2) Seal impression on Exhibit and Forwarding Letter

(3) Some Exhibits of Crime Scene

(4) Forwarding Letter

196, IITHITA Qe HTEt Geeia R 2
(1) Serebia s = fiesfavarardt s
(2) &1 9 frem
(3) oiwer 3 fwfeen
(4) AfFzT T [ SET AT
Forensic medicine deals with
(1) Application of medical knowledge for administration of justice
(2) Crime and punishment
(3) Medicine and toxicology
(4) Study of firearms and finger-prints
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197. FUSTEOA A @ S 1 IfeEam.
(D 7%RE AR 2 fm
(3) VRSN (4) ITeCEEEN THE
Dried seminal stains on clothes are identified by
(1) Infrared light {2) Magnifying lens
(3) Spectroscope (4) Ultraviolet light
198. wivalia Ot Fr= TR foeg @ TR 91 ARG MR-
(1) ¥ (2) TR
(3) w9 (gEE) (49 wRw
Tyre mark of motor car on the body is an example of abrasion.
(1) Graze (2) Impact
(3) Pressure (4) Scratch
199. Wrelied$ Hivrar fqurer (Poison) a1@ T&@aY ?
(1) fa (2) WIEHE
(3) aguear = (4) oTg
Which of the below mentioned poisons is odourless ?
(1) Phenol ' (2) Phosphorus
(3) Dhatura Seeds (4) Opium
200. f¥dd AT TEBE el 7 TSHE W Jog el @ g Fom fafie goar v

(1) s gm

(2) WK SU=RE A= TS0

(8) eI ATSIET §Y W Y&H Yiel Hd Rt v

(4) ATl IS U FRG T =T A%

The most specific feature of death due to ante-mortem hanging is
(1) Tardieu spots

(2) Dribbling of saliva from corner of mouth

(3) Oozing of abundant fine white froth from nostrils and mouth

(4) Oozing of too much of blood from nostrils and mouth
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8) veyfeRwed fiftn e fiftne Irlle Fo w0 (T 75) TR, TEgRReRie SReRFE T w7
FRERHE M $eIE o B Foar IR TS AR, T T T T AR AR IR
I ¥ ‘sl gom=r Ao s wwaEEee dftfae-g2” I wgdTeR srat
WO T T N AE FATA T U SREETSAT ST/ T U SR RS sere e

(9) WX TEEREE S fafi ol A wxwERR ShEETEn @ SRR A EtE e
U WWE wEEft 3. W oigernangt avangei SUEEER neeRr Iwufideer w1
wHARETES 7 et v a0 v g, o

oi¥e1l URSA

V. %. 201. W 9 T HOAEE FIV gEd: T S ?
1) T g T (2) FaEg e
(3) T THHEIEA U (4) TiTeHT MEe

IR I IR (3) T T U9 3@ IR, e I YN IR (3) wida,
IR WTEATHTO 999 3. 201 FH0A IWFF @) R g Pive SHIifea wEd
gRafam TTavE TR,

w2 @O @ @ @

M UG TEId TEYEehdie Yo WA gEET TGRS B gRElen Tt queee
SouBHIIE T T WAHHEEEIIA GHid 9ge QUNY SHifHd $Ed SEaET. WiehiT
E TTEAT VTSR wieTad aTare, U an v o s 1.
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